241/2

56

1/8

2

RW ROGERS
COMPANY

Title : Tote Pick Cart - Steel
Powder Coated

Part #

02-PC2538-PC-GY39

Date :

5/23/19




241/2

1/8

25

PARTS LIST

ITEM | QTY PART NUMBER
1 2 |Insert Glide 1x2
2 4 |02-Spacer Plate
3 2 |02049-RT-1 U 25.625 (10.5x10x10.5) Handle
4 3 |02065-HRST-1 U 117.125 (49x24.5x49)
5 1 |02065-RECT-21 24.5
6 2 |02065-RECT-1112 B 25 Flat
7 2 |02065-RECT-1112 B 38.5 Flat
8 1 |02375-HRR-38 22.5
9 2 |020478-SH-4896 4 x 8 clipboard holder Side
10 1 |020478-SH-4896 4 x 8 x 24 clipboard holder (20 x 24)
11 12 |020598-SH-4896 1.75 x 3.25 x 24 Runner
12 2 |020598-SH-4896 16.75 x 19 Top Shelf (17.75 x 20)
13 1 |021046-SH-4896 5.25 x 22 Wheel Support (6.25 x 22)
14 4 |HDWI-CB31180625Z 5-16-18 Carriage Bolt .625
15 12 |HDWI-CB31181750Z 5/16-18 Carriage Bolt 1.75
16 4 |HDWI-FWSAE5/16Z 5/16 Flat Washer
17 4 |HDWI-HHCS31180750Z 5/16-18 x .75 Hex Cap Bolt
18 20 |HDWI-NSHF3118Z 5/16-18 UNC Flange Nut
19 4 |HDWI-SLW516Z 5-16 Split Lock Washer
20 4 |RWR-PHC-CAS618LC-5 POLY SWIVEL - PLATE CASTER
21 1 |WHL-Z42P352CLPLSL5x2 SPRING LOADED RIGID CASTER

Tile: Tote Pick Cart - Steel
} Powder Coated
Part # Date :
RWROGERS | 02-pc2538-PC-GY39 | 5/23/19




10

10 1/2

Cut 25 5/8" Prior to Bends
10 1/2" x 10" x 10 1/2"

2
02049-RT-1

1" Round Tube
Steel

Rod 2 1/2" Back

24 1/2

Cut 117 1/8" Prior to Bends
49" x 24 1/2" x 49"

3
02065-HRST-1

1" Square Tube
Steel

241/2

1

02065-RECT-21
1" X 2" Rectangle
Steel

4577

381/2

45°L> 45°D

2 2

02065-RECT-1112
1" x 1 1/2" Rectangle
Steel

221/2

Rod 2 1/2" Back
From Frame

1

02375-HRR-38
3/8" Hot Rolled ROD
Steel

=

~

#

020478-SH-4896

.0478 Sheet
Steel

—

020598-SH-4896
.0598 Sheet
Steel

R

1/?
A

s34

1

021046-SH-4896
.1046 Sheet
Steel

R4

RW ROGERS
COMPANY

Tide: Tote Pick Cart - Steel
Powder Coated

Part #

02-PC2538-PC-GY39

Date :

5/23/19




